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Instructions to the candidates:

1) All questions are compulsory.
2)  Figures to the right indicate full marks.
Q1) a) Fillin the blanks with most appropriate word in the bracket (Attempt any 5) :
[S]
1)  Marketing creates
(Demand, Sales, Both, None)
i)  Non-Profit Organizatien-includes
(Religious Organizations, Trade Unions, Clubs, All of the above)
i) Marketing Organizations help in promoting new
(Company, Ideas, Employee, None)
iv) The branding strategy is also called
(Brand architecture, Branding rate, Brand earnings, Brand
responsiveness)
v) .The demand for the product mostly determined by the
of the product.
(Culture, Habit, Price, Income)
vi) Non-trading organizations are exempted from paying taxes
to
(Government, Owner, Customer, None)
Q2) Match the following : [5]
Group A Group B
1)  Sales Forecasting Estimation of Sales Revenue & Overheads
i)  Non-Profit Organization Product Organization
i) Marketing Organization Product appearance
iv) Brand Positioning Service Motive
v) Sales Budget Estimation of Future Sales
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03) Write a Short Note on (Any two) [10]

a)
b)

c)
d)

04) a)
b)

05) a)

b)

Sales Budget
Importance of Non-Profit Organization
Essentials of Marketing Organizations

Components of Brand Strategy

What is Demand? What are the determinants of Demand? [8]
Explain the different types of Non-Profit Organizations in India. [7]

What is Marketing Organization? Explain the Principles of Marketing
Organizations. [8]

Explain various types of Brand Building Strategies. [7]

QOO0

[5952]-513 2



Total No. of Questions : 5]

PA-1836

az 21 a’E]

e :

1)
2)

[5952]-513
T.Y.B.Com. (Semester - V)
355H : ferqum =eremaF - 11

(2019 Pattern) (CBCS)
(AT TATR)
[T ot - 50
qd 999 HTEvEE.

ITT AISTHSIA 3F T[0T FYIEard.

g 1)

FHETH T v Ferga ferman S /. (Fiorergt ure) [5]

Vi)

3 PT.O.



gvq 2) OnE SN .

e A Ted
fesht argam fersht weget & et sier
for e Twen T TR
ferour wwen T e
e ferd A
IEEQRC HE PEED WiersTehtetd feEhien 3=

gog 3) fem fermn. (v gm)

H)
)
%)

3)

g7 4) )

=)

g 5) =)

=)

[5952]-513

Rt stgrToETR

o o TR wEe
formu TRl stEveRal
i et gesh

ARTOR TEUTS a2 AR (e g2 v ?
o o Ty fafay weR T .

oo wEen WU w7 feauE TR 9 |,

et sgeram ffde fafay Ter T .

Q000

]

[10]

8]
[7]

8]
[7]



